TexHonmorndeckuit (MHKEHEPHBIN) MPOPUITH

Ne MaTeMaTHKa pesyabtat A B Gasutax mpeaMeTsl 10 BBIOOPY arTecTar 2 mpeaMera UTOIo
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mpumep | 10000 21 1,46 30,66 12 2,37 28,44 30 1 30,00 5 0 1 6,25 4 1 0 4,00 70,91
1| 10177| 21 | 1,46 | 30,66 18 2,37 | 42,66 37 0,94 | 34,78 4 1 5,00 4 1 4,00 | 82,32
2| 10104| 22 | 1,46 | 32,12 2,37 | 0,00 34 0,94 | 31,96 5 1 5,00 5 1 5,00 | 74,08
3| 10079 19 | 1,46 | 27,74 | 15 2,37 | 35,55 27 0,94 | 25,38 4 1 5,00 4 1 4,00 | 72,29
4] 10060 21 | 1,46 | 30,66 | 11 2,37 | 26,07 | 25 0,94 | 23,50 4 1 4,00 5 1 5,00 | 6573
5| 10027| 12 | 1,46 | 17,52 16 2,37 | 37,92 0,94 | 0,00 4 1 4,00 4 1 4,00 | 63,44
6| 10125| 11 | 1,46 | 16,06 2,37 | 0,00 24 0,94 | 22,56 4 1 4,00 4 1 4,00 | 46,62
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